
https://www.geekcert.com/e20-517.html
2024 Latest geekcert E20-517 PDF and VCE dumps Download

 

 

 

E20-517Q&As

Symmetrix Solutions Specialist Exam for Storage Administrators

Pass EMC E20-517 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/e20-517.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

Latest E20-517 Dumps | E20-517 Practice Test | E20-517 Braindumps                                1 / 3

https://www.geekcert.com/e20-517.html
https://www.geekcert.com/e20-517.html
https://www.geekcert.com/e20-517.html


https://www.geekcert.com/e20-517.html
2024 Latest geekcert E20-517 PDF and VCE dumps Download

QUESTION 1

A customer uses Solutions Enabler to manage their Symmetrix VMAX arrays. They want to ensure that device groups
defined on one Solutions Enabler host becomes visible to the other Solutions Enabler hosts automatically. 

Which Solutions Enabler daemon will satisfy this requirement? 

A. storgnsd 

B. storapid 

C. storrdfd 

D. storevntd 

Correct Answer: A 

 

QUESTION 2

A customer wants to deploy SRDF/S between a pair of Symmetrix VMAX arrays. The R1/R2 devices will be RAID-1
protected. Two RAID-1 BCVs will be concurrently established with the R1 device. How many mirror positions will remain
for the R1 devices in this configuration? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

 

QUESTION 3

How does TimeFinder emulation mode convert commands? 

A. Snap commands are converted to Mirror commands 

B. Clone commands are converted to Mirror commands 

C. Mirror commands are converted to Clone commands 

D. Mirror commands are converted to Snap commands 

Correct Answer: A 
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QUESTION 4

An SRDF/A session is active with Transmit Idle enabled. The device pairs are in a consistent state. 

What will happen if there is a temporary loss of all links? 

A. Cycle time will be elongated 

B. RTO will increase 

C. Devices will go into a "Synchronous" mode 

D. Devices will go into a "Partitioned" state 

Correct Answer: A 

 

 

QUESTION 5

What happens when a TimeFinder/Snap session is terminated? 

A. The virtual device is made Not Ready Tracks on the Save Device(s) are reclaimed if not referenced by another
session The copy session structures are freed-up 

B. The virtual device is made Read-Only Tracks on the Save Device(s) are reclaimed if not referenced by another
session 

C. The virtual device is removed Tracks on the Save Device(s) are reclaimed if not referenced by another session 

D. The virtual device is made Not Ready The copy session structures are written to the virtual device Tracks on the
Save Device(s) are reclaimed if not referenced by another session 

Correct Answer: A 
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